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Questions

The symbol for a circle:

The circumference of a circle is called:

The length of the diameter of a circle is how many times the radius of circle:

A fraction with degree of numerator less than degree of denominator:

In proportion 7:4::p:8, p =

In proportion a:b::c:d, b and c are called:

In a proposition a:b::c:d, a and d are called:

Product of roots of equation 5x2+3x-9=0:
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Sum roots of 4x2-3x+6=0:

Roots of following equation are: 9x2-4x+1=0:

Equation is 2x4-3x3+7x2-3x+2=0 called:

An equation of the type 3%+32%+6=0 is a/an equation:

Answers Choice
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. Tangent

. Chord
Boundary
Segment

AW =

Equation
. Improper
Identify
Proper
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712
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Means

Extremes

. Third proportional
None of these

Means

. Extremes

Fourth proportional
None

. Real, Equal

. Real, Unequal
. Imaginary

. Irrational

Reciprocal
Radical
Exponential
None

Radical

. Exponential equation
. Reciprocal

. None of these



